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NOTE: Question No | is compulsory
Attempt any three questions from remain-
ing. Assume suitable data if necessary.
Figure indicate full marks

Q1. A) Define Data structure and Abstract Data Type'? e S et S S

B) What do you mean by asymptotic notahons" Explam W‘.lth the help of example. A

C) What is recursive function? Explain how it works using proper example. 3
D) Define Stack? List the applications of Stack" _ 3
E) List the properties of Red- Black Tree: - ES : :_ o o 3
F) Define Graph. What are the iethodisito fepfes_ént graph. RS 3
G) What is Linked List? State the advantages of Linked List. 3
Q2. A) Write a program to implement Queue using array. 10
B) Illustrate the deletion operation in a binary -}iezip ‘with examples. 10
Q3. A) Write an algorithm for Quick sort and Merge sort. 10

B) Define AVL Tree? Create an AVL tree using the following sequence
(Mention type of rotation for each case.)- 16,27,9,11,36,54,81,63,72 10

Q4. A) Write a functions to implement insert (), delete () and traverse ()

for singly linked list. 10
B) Write a program to implement a Stack ADT using Linked List? 10
TURN OVER
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Q. P. Code: 22955

Q5. A) Find Minimum spanning tree for following graph using Prim’s and Kruskal’s

Algorithm. Show all the steps.

B) From a binary max-heap and-min-heap from the following sequence of data-
50,40,35,25,20,27,33 ~ - ' TENgSs SO 10
Q6. Write Short note (Any Four) 2GS 20
Euclid’s Algorithm

Huffman tree

Sparse matrix

Breadth First Search Algorithm

Circular Queue

Bubble Sort -

N S = T = A
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(3 Hours) -~ [Total Marks: 80] =
N.B.: (1) Question No. 1 is compulsory. !
(2) Solve any three questions out of remaining five,
(3) Figures to right indicate full marks,
(4) Assume suitable data where necessary.

Q1. Solve any four ; %,
a) State ideal and Practical Characteristics of an Op am -
b) Explain Multlplexcr and Demu]nplexer i v 3

l) (128)10 11)(73)10
d) Explain working of LCD.
e) Covert D flip flop to S-R flip ﬂop

F(A,B.C.D)= ¥ m(0, 134 5, 8'9 10,,12\1'

b) Explain Fixed Blasmg Cu‘cult w1th 1ts Stﬁblh ; factso g

10
10

10

10
10

10

10
10

20

b _:f- Exglam workmg nf a transls‘oor
~Wri;e VI-DJLprogram for NAND  gate.
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[Time: Three Hours]
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Q3 (c) Solvethedifferential equation gy

Q6(0) deducothat ¥ 5 = 2%

QPQode: 23178
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Q.3 (c) Solve the differential equation EF + 2 —= + y = 3te™"

®

Q.6 (c) deduce that Z Sp=e—=



Time: 3 hours
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N.B: 1. Question No1is compulsory %

2. Answer any four from the remaining.

1. Answer any four from the following. &
(a) Explain any one type of wireless communlcatlQn ,qhagna[‘ 43
(b) State and prove time shlftmg property of Fouc(é‘r.trar)s;or

compare to TRF receiver.
(d) Explain Inter symbol Interference an
(e) Explain Time division mult:piexm

/\--.)

ol -.'-._'-4 dF

modulation mdexes

/-‘

LR S

3. (a) Explam Ratio de;%cfb\r‘

"\

"ln?

(b) EpraLn A‘dﬁmeaei‘tamodulatib
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5.(a). Exgl |r‘=>\ é"‘ ;\eﬁ@ng{degengrataogvctf Bliﬁ&&l_gnal g (10 M)
hfhe ?1 ¥ ﬁg{ﬁyo‘i"iuraﬁsﬁ’uﬁt{d QQQP@bqseband channel. Draw
“g gﬁb{hﬁrﬁé\@ﬁll e&“da@,usmgthb‘foilowmg data formats. (10 M)
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Note

Question 1 is compulsory

u\\\. ; _u.-_ 3
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Solve any three of the remaining.

Draw neat diagrams

Q1. a) Identify and list down file operations
b) Describe ACID Properties

£

c) Explain Total participation and partial parti
d) Explain aggregate Function with exampl

Q2. a) Explain stored procedure and fun
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b) Explain Shadow Paging

Q3. a) Identify and list all funct
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